An experiment is conducted to compare five formulations of cookies and 4 cooking temperatures in an oven. Due to the nature of the experiment and time constraints, it was decided that on each of 7 days, there would be 4 cooking periods (one at each of the 4 temperatures), with each formulation being prepared in each cooking period. Give the Analysis of Variance table, including all sources of variation, degrees of freedom, and appropriate F-statistics. The response is a measure of cookie quality.

A study is conducted to compare the effects of 5 methods of practicing to play the trombone among college band trombone players. A sample of 30 trombone players is obtained, 6 are assigned at random to each of the 5 methods of practicing. Baseline measures of ability (X) are obtained as well as a post-practice score (Y). The researchers find no interaction between the effects of baseline score and method of practicing. The estimated regression equation is:      
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    where M1,…,M4 are dummy variables for methods 1, 2, 3,  and 4, respectively. 

· Give the adjusted means for methods 1 and 5, where the overall mean practice score is 24.2.

· How large would SSE have to be for the model E(Y)=X, for us to conclude that the methods of practicing effects are not all equal?
A study is conducted to compare 4 varieties of cat food on weight gain in kittens. 4 Kittens are selected at random from each of 12 litters with 4 or more kittens. Of the 4 kittens selected from each litter, one is assigned to variety A, one to B, one to C, and one to D (at random). Weight change at 16 weeks is obtained for each kitten. Complete the following ANOVA table and use Bonferroni’s method to compare all pairs of variety (population) mean weight change.

  
[image: image2.emf]Source df SS MS F Critical F

Variety 600

Litter

Error 990

Total 47 3000


Variety Means:   A: 21     B: 28      C: 22      D: 27
H0: No Variety Differences  

HA: Variety Differences Exist

Test Statistic_______________________    Rejection Region ________________

Critical t-value for Bonferroni’s Method:  _________________

Standard error of Difference between 2 Variety Means:

Bij
Comparison                       Confidence Interval             Conclude

A vs B

A vs C

A vs D

B vs C

B vs D

C vs D
A study is conducted to compare 5 methods of oiling bowling alleys (Factor A) on scores by professional bowlers. A random sample of 10 professional bowlers (Factor B) are observed twice on each of these 5 oiling methods (the scores are totals pins over 7 games/100). These are the only oiling methods of interest. The partial ANOVA table is given below for the model:
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[image: image4.emf]Source df SS MS F Critical F

Oiling Method 4 43.0 10.75

Bowler 9 10.1 1.12

OilxBowler 36 24.3 0.675

Error 50 37.5 0.75

Total 99 114.9


Conduct the following tests:

H0: No bowler/oiling method interaction:   ab2 = 0

HA: bowler/oiling method interaction:   ab2 > 0

Test Statistic ______________      Rejection Region ________________

Do you conclude there is a significant interaction? ____________________

H0: No Oiling Method Differences: 

HA: Differences exist among oiling methods  (Not all i = 0)

Test Statistic ______________      Rejection Region ________________

Do you conclude there is a significant oiling method effect? ____________________

H0: No bowler effect:   b2 = 0

HA: bowler effect exists:   b2 > 0

Test Statistic ______________      Rejection Region ________________

Do you conclude there is a significant interaction? ____________________

3. An experiment is conducted to compare eight formulations of cookies and 3 cooking temperatures in an oven. Due to the nature of the experiment and time constraints, it was decided that on each of 5 days, there would be 3 cooking periods (one at each of the 3 temperatures), with each formulation being prepared in each cooking period. Give the Analysis of Variance table, including all sources of variation, degrees of freedom, and appropriate F-statistics. The response is a measure of cookie quality.

4. A clinical trial is conducted to compare the effects of 3 medications for the flu. A sample of 60 patients is obtained, 20 are assigned at random to each of the 3 medications. Baseline measures of flu severity (X) are obtained as well as a post-treatment score after 4 days (Y). The researchers find no interaction between the effects of baseline severity level and medication. The estimated regression equation is:      
[image: image5.wmf]320

2

.

0

5

.

0

7

.

0

0

.

3

2

1

^

=

+

-

+

-

=

SSE

M

M

X

Y

 

5. where M1 and M2 are dummy variables for medications 1 and 2, respectively. 

· Give the adjusted means for each treatment, assuming that the overall mean pre-treatment score is 8.0.

· How large would SSE have to be for the model E(Y)=X, for us to conclude that the medication effects are not all equal?

6. A study is conducted to compare 3 varieties of cat food on weight gain in kittens. 3 Kittens are selected at random from each of 20 litters with 3 or more kittens. Of the 3 kittens selected from each litter, one is assigned to variety A, one to B, and one to C (at random). Weight change at 16 weeks is obtained for each kitten. Complete the following ANOVA table and use Bonferroni’s method to compare all pairs of variety (population) mean weight change.

  
[image: image6.emf]Source df SS MS F Critical F

Variety 400

Litter

Error 540

Total 2000


7. A study is conducted to compare 3 types of traffic signal settings (pre-timed, semi-actuated, and fully actuated). A sample of 30 intersections in a large city are obtained, and 10 are assigned to each of the 3 settings at random. Measurements are obtained at each signal at 20 “points” in time, where Y=traffic delay (seconds/vehicle). Write out the sources of variation and degrees of freedom for the ANOVA table. Would these factors each be best described as fixed or random? What would be the appropriate error term for testing for signal effects? What would be the degrees of freedom?

8. A 1-Way ANOVA is conducted to compare the effects of 4 methods of preparing steel. Five replicates of each method are obtained, and the breaking strength is measured. Suppose that the between treatment sum of squares is 1200, and the within treatment sum of squares is 2400. Give the test statistic for testing whether the true mean breaking strengths differ among the 4 methods. Give the minimum significant difference for pairs of methods, based on Bonferroni’s method with an experimentwise error rate of 0.05. 
9. An experiment is conducted to compare the effects of 4 types of fertilizer on the growth of a particular plant.

10.  A sample of 8 locations (blocks) in a large yard are selected and 4 plants are planted at each location. 

11. At each location, the 4 plants are randomly assigned such that one receives fertilizer A, one receives 

12. fertilizer B, one receives fertilizer C, and one receives fertilizer D. 

13. Complete the following Analysis of Variance Table.

	Source
	df
	SS
	MS
	F
	F(.05)

	Fertilizer
	 
	395.8
	 
	 
	 

	Location
	 
	329.3
	 
	 
	 

	Error
	 
	 
	 
	 
	 

	Total
	 
	745.3
	 
	 
	 


14. The means for the fertilizers are: A=27.1, B=29.0, C=33.7, D=35.9. 

15. Use Bonferroni’s method to make pairwise comparisons among all pairs of varieties 

16. with an experimentwise error rate of 0.05

17. An experiment is conducted to measure the effects of 4 weave types and 3 test speeds on the breaking 

18. strength of fibers. Four replicates are obtained at each combination of weave type and test speed.

19.  These are the only weave types and fibers of interest to the researchers. 

20. Complete the following ANOVA table, and conduct the tests for interactions and main effects.

21. 
[image: image7.emf]Source df SS MS F F(.05)

Weave Type 3224.82

Test Speed 3186.53

Interaction 20.98

Error 389.28

Total 6821.62


22. H0: No Interaction between weave type and test speed       Reject H0       /           Fail to Reject H0  

23. H0: No weave type effects                                                   Reject H0       /           Fail to Reject H0  

24. H0: No test speed  effects                                                     Reject H0       /           Fail to Reject H0  

25. A researcher is interested in comparing 4 diet plans. She selects 160 subjects and randomly assigns 40 subjects to each diet. She will measure their weight loss at 3 time points over the course of the year. Her analysis of variance will have the following sources of variation. Give her degrees of freedom for each source (actual numbers, not symbols).

	Source
	Degrees of freedom

	Diets
	

	Subjects(Diet) --- Error1
	

	Time Points
	

	Diets*Time
	

	Time*Subjects(Diet) --- Error2
	

	Total
	


A study is conducted to compare pH levels in rivers in 3 geographic areas. 

Random samples of 5 rivers were selected within each of the geographic areas, and 4 replicates were 

obtained within each river. Complete the following Analysis of Variance table.

	Source
	df
	SS
	MS
	F
	F(.05)

	Area
	 
	4000
	 
	 
	 

	River w/in Area
	 
	2400
	 
	 
	 

	Error
	 
	2250
	 
	 
	 

	Total
	 
	 
	 
	 
	 


26. Compute Bonferroni’s B to be used to compare all pairs of geographic areas.

Part 4: An Analysis of Covariance is conducted to compare three exercise regimens with respect to conditioning. Each participant is given a test to measure their baseline strength prior to training (X). Out of the 30 participants, 10 are assigned to method 1 (Z1=1, Z2=0), 10 are assigned to method 2 (Z1=0, Z2=1), and the remaining 10 receive method 3 (Z1=0, Z2=0). After training, each participant is given a test of their strength (Y) . 

· Model 1: E(Y) =  +  X                                                          R12 = 0.204

· Model 2: E(Y) =  +  X + 1Z1 + 2Z2                                                        R22 = 0.438

· Model 3: E(Y) =  +  X + 1Z1 + 2Z2+ 1XZ1 + 2XZ2          R32 = 0.534

a) Test whether the slopes relating Y to X differ for the three exercise regimen.

i. Null /Alternative Hypotheses:

ii. Test Statistic:

iii. Rejection Region/Conclusion:

b) Based on Model 2, test whether the three regimens differ, after controlling for X
i. Null / Alternative Hypotheses:
ii. Test Statistic:
iii. Rejection Region/Conclusion:

c) Give the adjusted means for the 3 regimens for Model 2.  (X-bar=29)
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Q.5.  A repeated measures ANOVA is fit to determine the long-term effects of g=3 internet webpage styles on reader’s viewership of a newspaper website. The newspaper samples 60 computer users in their region and assigns n=20 to each of the webpage styles, setting the link to the subject’s home computer. They measure the amount of time spent on the newspaper webpage during the first month, the third month, and the sixth month (t=3). 

p.5.a.  Complete the following ANOVA table:


[image: image9.emf]Source df SS MS F F(.05)

WebPage 60

Error1   855 #N/A #N/A

Time 32

WP*Time 16

Error2   456 #N/A #N/A

Total   1419 #N/A #N/A #N/A


p.5.b. Do you conclude that there is a significant interaction at 0.05 significance level? __________

Why?  Because ______ is larger / smaller than ______  (circle relevant choice & provide numbers from table)

p.5.c. Do you conclude that there is a significant webpage effect at 0.05 significance level? __________

 Why?  Because ______ is larger / smaller than ______  (circle relevant choice & provide numbers from table)

p.5.d. Do you conclude that there is a significant time effect at 0.05 significance level? __________

 Why?  Because ______ is larger / smaller than ______  (circle relevant choice & provide numbers from table)

p.5.e.  Obtain Bonferroni’s minimum significant difference with an overall error rate of 0.05 for comparing pairs of webpage means. Hint: The standard error for the difference of 2 webpage means is: 
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Sheet13

		SUMMARY OUTPUT



		Regression Statistics

		Multiple R		0.5939783658

		R Square		0.352810299

		Adjusted R Square		0.3296963812

		Standard Error		1.2814682307

		Observations		30



		ANOVA

				df		SS		MS		F		Significance F

		Regression		1		25.0659042272		25.0659042272		15.2639764798		0.0005390385

		Residual		28		45.9805031335		1.6421608262

		Total		29		71.0464073607



				Coefficients		Standard Error		t Stat		P-value		Lower 95%		Upper 95%		Lower 95.0%		Upper 95.0%

		Intercept		7.1455307587		0.691361085		10.3354540975		0		5.7293417934		8.5617197241		5.7293417934		8.5617197241

		X		-0.057243181		0.014651764		-3.906913933		0.0005390385		-0.0872559587		-0.0272304033		-0.0872559587		-0.0272304033



						2.2222222222







Sheet14

		SUMMARY OUTPUT



		Regression Statistics

		Multiple R		0.8275364524

		R Square		0.6848165801

		Adjusted R Square		0.6484492624

		Standard Error		0.9280386606

		Observations		30



		ANOVA

				df		SS		MS		F		Significance F

		Regression		3		48.6537577157		16.2179192386		18.8305496173		0.0000010659

		Residual		26		22.392649645		0.8612557556

		Total		29		71.0464073607



				Coefficients		Standard Error		t Stat		P-value		Lower 95%		Upper 95%		Lower 95.0%		Upper 95.0%

		Intercept		5.3356364746		0.6115395077		8.7249252212		0.0000000033		4.078599026		6.5926739233		4.078599026		6.5926739233

		X		-0.012993695		0.0156517979		-0.8301726804		0.4139992909		-0.0451664259		0.019179036		-0.0451664259		0.019179036

		Z_D		1.1498175376		0.4192518139		2.7425463636		0.0108893654		0.2880331004		2.0116019748		0.2880331004		2.0116019748

		Z_R		-1.6144541396		0.5876427701		-2.7473394071		0.0107673704		-2.822371141		-0.4065371381		-2.822371141		-0.4065371381











Sheet15

		SUMMARY OUTPUT



		Regression Statistics

		Multiple R		0.8540917854

		R Square		0.7294727779

		Adjusted R Square		0.6731129399

		Standard Error		0.8948926199

		Observations		30



		ANOVA

				df		SS		MS		F		Significance F

		Regression		5		51.8264201338		10.3652840268		12.9431312157		0.0000036222

		Residual		24		19.2199872269		0.8008328011

		Total		29		71.0464073607



				Coefficients		Standard Error		t Stat		P-value		Lower 95%		Upper 95%		Lower 95.0%		Upper 95.0%

		Intercept		4.3183819267		0.8360426576		5.1652650582		0.0000273624		2.5928747001		6.0438891532		2.5928747001		6.0438891532

		X		0.016682416		0.022949963		0.7269038296		0.4743160547		-0.0306839793		0.0640488112		-0.0306839793		0.0640488112

		Z_D		3.7747305716		1.3819793814		2.7313942758		0.0116363489		0.9224653339		6.6269958093		0.9224653339		6.6269958093

		Z_R		-0.485489526		1.9597673262		-0.2477281458		0.8064519224		-4.5302504636		3.5592714116		-4.5302504636		3.5592714116

		XZ_D		-0.0719054988		0.036151782		-1.9889890583		0.0582182801		-0.1465191091		0.0027081115		-0.1465191091		0.0027081115

		XZ_R		-0.0315116881		0.0367877289		-0.8565815021		0.4001484455		-0.1074378284		0.0444144522		-0.1074378284		0.0444144522











Sheet1

		Source		df		SS		MS		F		F(.05)				Y		X		Z_D		Z_R		XZ_D		XZ_R		e

		Eye Contact				54.45										5.8935856622		31.7908553471		1		0		31.7908553471		0		-0.4156692057

		Officer Gender				76.05										6.7308698498		44.0853365135		1		0		44.0853365135		0		0.4953818689

		EC*OG				1.25										5.2180410329		42.349679562		1		0		42.349679562		0		-1.0278608897

		Error														6.4817099336		28.5011220613		1		0		28.5011220613		0		0.152716666

		Total				3635										5.4736227092		37.0911858327		1		0		37.0911858327		0		-0.8038301758

																4.8676270034		55.9332557814		1		0		55.9332557814		0		-1.2967734619

																7.4126313301		17.4365278427		1		0		17.4365278427		0		1.0172504972

																5.3466392636		47.7660615716		1		0		47.7660615716		0		-0.8667643669

																7.3034749811		38.5788576851		1		0		38.5788576851		0		1.0349481272

		4.2801869118														5.1796827073		37.1637294038		1		0		37.1637294038		0		-1.0973349163

																2.049904707		59.0440755937		0		1		0		59.0440755937		-1.0958308394

																4.6296956372		64.8661490837		0		1		0		64.8661490837		1.5188925317

																2.2846123204		50.7716528469		0		1		0		50.7716528469		-0.9107577625

																4.3153341596		43.0483716323		0		1		0		43.0483716323		1.0736243894

																1.7664728477		57.5292553245		0		1		0		57.5292553245		-1.3883516203

																1.7539024827		65.0272831231		0		1		0		65.0272831231		-1.3559338186

																3.3607866828		78.8780745702		0		1		0		78.8780745702		0.3340551302

				3.4224385086												3.0205689643		58.4717931056		0		1		0		58.4717931056		-0.1286002771

																3.8296760624		57.4408183334		0		1		0		57.4408183334		0.6743209724

																2.2931303749		73.5053142003		0		1		0		73.5053142003		-0.7658377399

																5.4249028386		6.6411133856		0		0		0		0		0.4647495189

																4.8918742328		30.2081902089		0		0		0		0		0.073123374

																3.4683277595		24.1510919193		0		0		0		0		-1.3867656889

																5.1110130476		43.8445398584		0		0		0		0		0.3740802867

																4.0991183601		27.0144313516		0		0		0		0		-0.7387950518

																4.356189857		45.7766476655		0		0		0		0		-0.369150257

																6.0223797396		46.3314166962		0		0		0		0		1.3003682398

																5.6118242588		48.8473859958		0		0		0		0		0.9049085747

																4.8580526259		36.1046148908		0		0		0		0		0.0746803153

																5.0586296316		33.8662347429		0		0		0		0		0.26182704





Sheet2

		Source		df		SS		MS		F		F(.05)

		WebPage				60

		Error1		 		855				ERROR:#N/A		ERROR:#N/A

		Time				32

		WP*Time				16

		Error2		 		456				ERROR:#N/A		ERROR:#N/A

		Total		 		1419		ERROR:#N/A		ERROR:#N/A		ERROR:#N/A
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Sheet1

		Source		df		SS		MS		F		F(.05)														30		-4		-3.6497567635		-0.7634344001		21.5868088364				21.5868088364		26.243747541		29.201430233		31.1630415985

		Fertilizer				395.8																				30		-4		1.2425857676		-1.36813469		25.8744510776				25.8744510776		27.4093991518		32.4624587291		36.7724877327

		Location				329.3																				30		-4		-1.291763283		-2.0825336833		22.6257030337				22.6257030337		25.6679930569		29.9780648118		33.6057283624

		Error																								30		-4		4.7086541599		0.8746087587		31.5832629187				31.5832629187		33.7213037508		37.1136976253		38.1420776142

		Total				745.3																				30		-4		6.609261618		0.5305628292		33.1398244472				33.1398244472		34.006471267		39.2106763582		42.0156405602

																										30		-4		-0.0306374659		0.3366903911		26.3060529252				26.3060529252		25.8224457209		32.6021502941		33.4378299562

																										30		-4		2.3475433863		-0.4936691766		27.8538742097				27.8538742097		30.2938536404		35.2522677884		36.5211068078

																										30		-4		1.8927630663		-0.0336274297		27.8591356366				27.8591356366		28.9881546248		33.7692491383		35.3737007976

																										30		-2		-3.6497567635		1.8935043045		26.243747541

																										30		-2		1.2425857676		-1.8331866158		27.4093991518

																										30		-2		-1.291763283		-1.0402436601		25.6679930569

																										30		-2		4.7086541599		1.0126495908		33.7213037508

																										30		-2		6.609261618		-0.602790351		34.006471267

																										30		-2		-0.0306374659		-2.1469168132		25.8224457209

																										30		-2		2.3475433863		-0.053689746		30.2938536404

																										30		-2		1.8927630663		-0.9046084415		28.9881546248

																										30		2		-3.6497567635		0.8511869964		29.201430233

																										30		2		1.2425857676		-0.7801270385		32.4624587291

																										30		2		-1.291763283		-0.7301719052		29.9780648118

																										30		2		4.7086541599		0.4050434654		37.1136976253

																										30		2		6.609261618		0.6014147402		39.2106763582

																										30		2		-0.0306374659		0.63278776		32.6021502941

																										30		2		2.3475433863		0.9047244021		35.2522677884

																										30		2		1.8927630663		-0.123513928		33.7692491383

																										30		4		-3.6497567635		0.8127983619		31.1630415985

																										30		4		1.2425857676		1.5299019651		36.7724877327

																										30		4		-1.291763283		0.8974916454		33.6057283624

																										30		4		4.7086541599		-0.5665765457		38.1420776142

																										30		4		6.609261618		1.4063789422		42.0156405602

																										30		4		-0.0306374659		-0.531532578		33.4378299562

																										30		4		2.3475433863		0.1735634214		36.5211068078

																										30		4		1.8927630663		-0.5190622687		35.3737007976

																																						Anova: Two-Factor Without Replication

																																						SUMMARY		Count		Sum		Average		Variance

																																						Row 1		4		108.1950282088		27.0487570522		17.3474192588

																																						Row 2		4		122.5187966912		30.6296991728		24.6918585184

																																						Row 3		4		111.8774892649		27.9693723162		23.2181676392

																																						Row 4		4		140.560341909		35.1400854773		9.1903433341

																																						Row 5		4		148.3726126327		37.0931531582		17.9570665732

																																						Row 6		4		118.1684788963		29.5421197241		16.2828161061

																																						Row 7		4		129.9211024462		32.4802756116		16.7320961173

																																						Row 8		4		125.9902401972		31.4975600493		13.2400954031

																																						Column 1		8		216.8291130851		27.1036391356		15.7529379016

																																						Column 2		8		232.1533687535		29.0191710942		11.4789687293

																																						Column 3		8		269.5899949782		33.6987493723		11.6088453554

																																						Column 4		8		287.0316134295		35.8789516787		11.0875950236

																																						ANOVA

																																						Source of Variation		SS		df		MS		F		P-value		F crit

																																						Rows		329.2771933615		7		47.0395990516		48.8511975402		0		2.4875777039

																																						Columns		395.7583531426		3		131.9194510475		136.9999594478		0		3.0724670011

																																						Error		20.2212357081		21		0.9629159861

																																						Total		745.2567822123		31





Sheet2

		Source		df		SS		MS		F		F(.05)										mu		a		b		e		y		i		j		ij		yi_bar		yj_bar		yij_bar		ybar				SSTO		SSA		SSB		SSAB		SSE

		Weave Type				3224.82																100		-10		-10		-1.292264642		78.707735358		1		1		11		90.225580834		90.6203134006		80.4421346489		100.4330506442				471.9893242845		104.1924399266		96.2898122117		0.0008579661		3.0081409001

		Test Speed				3186.53																100		-10		-10		0.0804493538		80.0804493538		1		1		11		90.225580834		90.6203134006		80.4421346489		100.4330506442				414.2283792855		104.1924399266		96.2898122117		0.0008579661		0.1308162527

		Interaction				20.98																100		-10		-10		1.6070328002		81.6070328002		1		1		11		90.225580834		90.6203134006		80.4421346489		100.4330506442				354.4189478651		104.1924399266		96.2898122117		0.0008579661		1.3569877028

		Error				389.28																100		-10		-10		1.3733210835		81.3733210835		1		1		11		90.225580834		90.6203134006		80.4421346489		100.4330506442				363.2732909275		104.1924399266		96.2898122117		0.0008579661		0.867108176

		Total				6821.62																100		-10		0		-0.6204777492		89.3795222508		1		2		12		90.225580834		100.1085644641		90.5983437745		100.4330506442				122.180489944		104.1924399266		0.1052912811		0.4861563363		1.4855259067

																						100		-10		0		2.1941104933		92.1941104933		1		2		12		90.225580834		100.1085644641		90.5983437745		100.4330506442				67.8801348108		104.1924399266		0.1052912811		0.4861563363		2.5464714207

																						100		-10		0		2.965261956		92.965261956		1		2		12		90.225580834		100.1085644641		90.5983437745		100.4330506442				55.7678678924		104.1924399266		0.1052912811		0.4861563363		5.6023016777

																						100		-10		0		-2.145519602		87.854480398		1		2		12		90.225580834		100.1085644641		90.5983437745		100.4330506442				158.220429439		104.1924399266		0.1052912811		0.4861563363		7.5287862289

																						100		-10		10		2.4904920792		102.4904920792		1		3		13		90.225580834		110.570274068		99.6362640786		100.4330506442				4.2330652585		104.1924399266		102.7632987427		0.5278606319		8.1466174795

																						100		-10		10		0.628451744		100.628451744		1		3		13		90.225580834		110.570274068		99.6362640786		100.4330506442				0.0381815898		104.1924399266		102.7632987427		0.5278606319		0.9844363633

																						100		-10		10		-3.3182868719		96.6817131281		1		3		13		90.225580834		110.570274068		99.6362640786		100.4330506442				14.0725331603		104.1924399266		102.7632987427		0.5278606319		8.7293713195

																						100		-10		10		-1.2556006368		98.7443993632		1		3		13		90.225580834		110.570274068		99.6362640786		100.4330506442				2.8515431489		104.1924399266		102.7632987427		0.5278606319		0.7954226706

																						100		-5		-10		3.7210111259		88.7210111259		2		1		21		94.7830562393		90.6203134006		83.9680821955		100.4330506442				137.1718696792		31.9224367762		96.2898122117		1.0044786037		22.5903334177

																						100		-5		-10		-6.1866739998		78.8133260002		2		1		21		94.7830562393		90.6203134006		83.9680821955		100.4330506442				467.4124936822		31.9224367762		96.2898122117		1.0044786037		26.5715114322

																						100		-5		-10		3.9235533222		88.9235533222		2		1		21		94.7830562393		90.6203134006		83.9680821955		100.4330506442				132.468528605		31.9224367762		96.2898122117		1.0044786037		24.5566940883

																						100		-5		-10		-5.5855616665		79.4144383335		2		1		21		94.7830562393		90.6203134006		83.9680821955		100.4330506442				441.7820634698		31.9224367762		96.2898122117		1.0044786037		20.7356724218

																						100		-5		0		-4.4838543545		90.5161456455		2		2		22		94.7830562393		100.1085644641		94.0965230268		100.4330506442				98.3450047534		31.9224367762		0.1052912811		0.1310780536		12.8191021921

																						100		-5		0		4.3280169848		99.3280169848		2		2		22		94.7830562393		100.1085644641		94.0965230268		100.4330506442				1.2210993885		31.9224367762		0.1052912811		0.1310780536		27.368529033

																						100		-5		0		-1.5453827018		93.4546172982		2		2		22		94.7830562393		100.1085644641		94.0965230268		100.4330506442				48.6985319651		31.9224367762		0.1052912811		0.1310780536		0.4120429644

																						100		-5		0		-1.9126878215		93.0873121785		2		2		22		94.7830562393		100.1085644641		94.0965230268		100.4330506442				53.9598736063		31.9224367762		0.1052912811		0.1310780536		1.0185065362

																						100		-5		10		2.2091307983		107.2091307983		2		3		23		94.7830562393		110.570274068		106.2845634956		100.4330506442				45.9152622542		31.9224367762		102.7632987427		1.8612703758		0.8548246973

																						100		-5		10		0.9023779057		105.9023779057		2		3		23		94.7830562393		110.570274068		106.2845634956		100.4330506442				29.9135406934		31.9224367762		102.7632987427		1.8612703758		0.1460658251

																						100		-5		10		3.7665085983		108.7665085983		2		3		23		94.7830562393		110.570274068		106.2845634956		100.4330506442				69.446521473		31.9224367762		102.7632987427		1.8612703758		6.1600514932

																						100		-5		10		-1.7397633201		103.2602366799		2		3		23		94.7830562393		110.570274068		106.2845634956		100.4330506442				7.9929808804		31.9224367762		102.7632987427		1.8612703758		9.1465526878

																						100		5		-10		3.9512542571		98.9512542571		3		1		31		106.5056932057		90.6203134006		97.3932915383		100.4330506442				2.1957205329		36.876987679		96.2898122117		0.4904699193		2.4272478333

																						100		5		-10		3.6054188968		98.6054188968		3		1		31		106.5056932057		90.6203134006		97.3932915383		100.4330506442				3.3402378043		36.876987679		96.2898122117		0.4904699193		1.4692527332

																						100		5		-10		-1.7289107745		93.2710892255		3		1		31		106.5056932057		90.6203134006		97.3932915383		100.4330506442				51.2936913641		36.876987679		96.2898122117		0.4904699193		16.9925519079

																						100		5		-10		3.7454037738		98.7454037738		3		1		31		106.5056932057		90.6203134006		97.3932915383		100.4330506442				2.8481519593		36.876987679		96.2898122117		0.4904699193		1.8282074974

																						100		5		0		1.855382834		106.855382834		3		2		32		106.5056932057		100.1085644641		106.208272522		100.4330506442				41.2463507562		36.876987679		0.1052912811		0.0007325411		0.4187517559

																						100		5		0		-0.3483523869		104.6516476131		3		2		32		106.5056932057		100.1085644641		106.208272522		100.4330506442				17.7965603854		36.876987679		0.1052912811		0.0007325411		2.4230811072

																						100		5		0		-1.4368367829		103.5631632171		3		2		32		106.5056932057		100.1085644641		106.208272522		100.4330506442				9.7976047189		36.876987679		0.1052912811		0.0007325411		6.996603235

																						100		5		0		4.7628964239		109.7628964239		3		2		32		106.5056932057		100.1085644641		106.208272522		100.4330506442				87.0460222729		36.876987679		0.1052912811		0.0007325411		12.6353510839

																						100		5		10		-6.0473030317		108.9526969683		3		3		33		106.5056932057		110.570274068		115.9155155567		100.4330506442				72.5843734878		36.876987679		102.7632987427		0.5291123206		48.4808426945

																						100		5		10		0.6681511877		115.6681511877		3		3		33		106.5056932057		110.570274068		115.9155155567		100.4330506442				232.1082885699		36.876987679		102.7632987427		0.5291123206		0.061189131

																						100		5		10		4.4859689297		119.4859689297		3		3		33		106.5056932057		110.570274068		115.9155155567		100.4330506442				363.0136951911		36.876987679		102.7632987427		0.5291123206		12.7481372885

																						100		5		10		4.5552451411		119.5552451411		3		3		33		106.5056932057		110.570274068		115.9155155567		100.4330506442				365.6583223757		36.876987679		102.7632987427		0.5291123206		13.2476314475

																						100		10		-10		2.7597525332		102.7597525332		4		1		41		110.217872298		90.6203134006		100.6777452199		100.4330506442				5.41354168		95.7427347957		96.2898122117		0.0743163024		4.3347544523

																						100		10		-10		5.6599674281		105.6599674281		4		1		41		110.217872298		90.6203134006		100.6777452199		100.4330506442				27.3206590652		95.7427347957		96.2898122117		0.0743163024		24.8225381312

																						100		10		-10		-3.3081505535		96.6918494465		4		1		41		110.217872298		90.6203134006		100.6777452199		100.4330506442				13.9965864019		95.7427347957		96.2898122117		0.0743163024		15.8873651167

																						100		10		-10		-2.400588528		97.599411472		4		1		41		110.217872298		90.6203134006		100.6777452199		100.4330506442				8.0295109582		95.7427347957		96.2898122117		0.0743163024		9.4761386635

																						100		10		0		0.3462719178		110.3462719178		4		2		42		110.217872298		100.1085644641		109.531118533		100.4330506442				98.2719560188		95.7427347957		0.1052912811		0.131237803		0.6644750407

																						100		10		0		0.1518742465		110.1518742465		4		2		42		110.217872298		100.1085644641		109.531118533		100.4330506442				94.4555322122		95.7427347957		0.1052912811		0.131237803		0.3853376558

																						100		10		0		-2.9934471968		107.0065528032		4		2		42		110.217872298		100.1085644641		109.531118533		100.4330506442				43.2109306341		95.7427347957		0.1052912811		0.131237803		6.3734321241

																						100		10		0		0.6197751645		110.6197751645		4		2		42		110.217872298		100.1085644641		109.531118533		100.4330506442				103.7693564523		95.7427347957		0.1052912811		0.131237803		1.1851732613

																						100		10		10		1.7503634808		121.7503634808		4		3		43		110.217872298		110.570274068		120.444753141		100.4330506442				454.4278265731		95.7427347957		102.7632987427		0.0080384528		1.7046183595

																						100		10		10		-1.4835995898		118.5164004102		4		3		43		110.217872298		110.570274068		120.444753141		100.4330506442				327.0075387566		95.7427347957		102.7632987427		0.0080384528		3.7185442545

																						100		10		10		-1.1474264738		118.8525735262		4		3		43		110.217872298		110.570274068		120.444753141		100.4330506442				339.278823198		95.7427347957		102.7632987427		0.0080384528		2.5350359258

																						100		10		10		2.6596751468		122.6596751468		4		3		43		110.217872298		110.570274068		120.444753141		100.4330506442				494.0228367776		95.7427347957		102.7632987427		0.0080384528		4.9058794918

																																						4820.7864309232		4820.7864309232		4820.7864309232		4820.7864309232				6821.6160762032		3224.8151901285		3186.5344357683		20.9824372264		389.28401308
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Sheet1

		Source		df		SS		MS		F		Critical F

		Oiling Method		4		43.0		10.75

		Bowler		9		10.1		1.12

		OilxBowler		36		24.3		0.675

		Error		50		37.5		0.75

		Total		99		114.9
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Sheet1

		Source		df		SS		MS		F		Critical F

		Variety				400

		Litter

		Error				540

		Total				2000





Sheet2

		





Sheet3

		






_1264825053.unknown

_1264317340.unknown

